C.5.E CHEMISTRY (Preiim ) - 2004

LR
CHEMISTRY - 2405
{PRELIMINARY,
Fitme Aflawed @ Twe Howrs Mavimiren Marks [ 304
b Corsider the lollowing statements about slyees ©

Lo Acetylene ts a Eovar maofecte, 21 four atones lying along
& single straigh: lire

2 Hydration of acetylene inthe presence of seid and Hy S ),
vields acealdehyde.

Lrd

Nosderminl g kytes formoa precipitaie when teacied

withh @ solebion o sihver miteale 10 akcahad

4 Hydrogenation of alkynes over Lindlar cirtabest yaelds
gimrost exchiively the ofs-alkene,

Which ot the statements grver above are

tal 23 and 9 iy 1,2anda @

tei 3l 4 i) 1 ang 3

fivy Cu X

L RMgX SRR
iR -x
What 15 the reactior given %, <
{31 Wurtz symtiess 4 H‘.’}'-iiuti.‘it‘ s¥ithions
e} Sabatier synthesis g P Williamsin's synthesss
3, Fiiont) with List if (hstormcdice)

Mateh List U {Nawwe i/
aed seleel the cotmml

iwer using the codes piver below
List {1

A, Sandmi
B Hgedel (R

1. Carbanto
I Carbene
3 Carboaium jon
4 Free rudical
AR U D
ity 13 4
0TI T S

‘= T




4. Among the fullowing, which isthe least seable carbanion ?

=) &
{3y C MOl (hy (FH
@ i
() €O, (@) CH,

3. Consider the foliowing stalemeets abisl methyiene :
b Mothyiene s formed by the photwolvsis of diatm:ncti‘.an:,-'.:
2 Mehtylene can exst in two different forms, the sinpler and
taplar states,
L Singlet methylere s a diradical and s stabler than the triple;
siate,

4. Wher methyiens is penerated i dhe presence of alkenes
gvelapropancs are fermed.
Which of the statemerts given above are correct ?
{2} 1, 2 uand < by 1. Z2anc 3
{¢} 3and 4 Wy 1.3 ang 4
6. Consider the foBowing cormpotnls

NH. i
,/'*K /}KI
. X
S S

™
| : i)

Which one of tihe foil
tlecreasing erder of b
fa) T=b= B =l

rresenty corveetly the
e above compeusnds ?
BV -1 =11

fe) =48 =)= W ow]s Vol
T, Alcohals ardé? datile than ethers having the samné
moleruis . What is the reason for ghis 7

F i

{ap bt ipetir churacter
{BigA lcohalt
er Fhotecular hvidrogen bonding s presen: in sthers

er-mntecular Dydrogen honding i present in alcehiols

AV rohOnancs drsetuoed




8. Which one of the foHowing molecules bis the highest dipoke

moment ?
(ay CI i;{.'.‘z { {;‘i-izﬂi:
{c} Cfi-l{i'.ij f3}; {'.?Ct4

g. in which one of the following pairs, moleculesfions have
simitar shape 7
tay €O, and H,0 (b BFF, & t-butyl carbonhun on
) CCI and PiCl, (d) NH, and BF, _
10, For an oclahedral complex, which of the following d-electron

configurations will give maximum erystal-field stabili? '

energy 7
(b High-spin d° {by  Low-spin ¢ O
¢y Low-spin & () Highspis &

11.  Which one among the following is a parami
(a) K INHON (1) > N
@) FCOINILYICH, ()

12.  Which onc of the following dags
ray Fe{CO3, K

ey K FelUNy, M g COY,
13, Fhe coordination ¢g cis-phatin, cis-PHNM ) CL is a
medicine Tor tregfm which one of the following 7
fa} Malana () Caneer '
{c) Ancid {dy Diaberes

14, Which Zvdha the following exhibits gptical isomerism 7
feg = H 1, CH, NH,)

"4'15?{'11:{?\% H’: ACT (b s [CotNH ) CL
Wit CLHT () rans-{Colen) U

N 1 hs: bnisial rate r, uf.s certain reaction depends on the initial
¥ concentrations n{ species A, B and C as shows in the table
(concenteation in mM and 1, inmvEs):




1.

% What is the overall quantun yicld of the reaction 7

[A], 1O 1og 200 100

B3, 140 2006 200 100
€L o ) 1% 4%
By, 10 20 40 125

What are the arders of the reaetion with respect ta A, B anqg

C respectively ?

fay |, 2and -1 by 1 2andt

{cy 2,2 and 1§ &y 1,1 and -1

Mateh List § fCharacrer of Reaction) with List 11 (Ordet) and

sefect the correct saswer using the codes given betow

List ] List 1

A, Reacticn with identical rate amd I Zero
rate constant

B, Reaction rate doubles on increasing
conceniration four thmes

. Hall life pertod is inversely
proportional o imlial concentrtioh

3 Half Hie period is mdependeny @ *
of congentration

(<5 ]

(3}
i<}




fay 0.5 {1
N {dy 4
:':l'.l. Yar whick wne of the fellowing processes is inter system
| crossing {18C) essential 7

@y [luoressence {by  Phosphorescencs

¢t Chemilummngscenes idy Radiczctive decay

2. Consider the Soliowing photochemicnl reactions @
H, o+ O, 225 2HCl and
208 A

-

1, « Br, —-»2HBr
CHLTEY

These reactions are examples of which of the following 7
(1) Reactions of low and high quantum velds respectivel
ity Beactions of iigh and tow quantum yvaelds respeciively
i¢d Reactions with quantum vields cqual o one
iy Reactions with equal guantum yiekds but nol
[ALERY

2. Which one of the following statements
Peptization is 2 process of
1ap precipiiation of colloidal partel
fby purification of colioids ;
WY diRpresing precipliaes m fal solution

1dy protection of colloidal
12, Which among the Fall, true for lyophibic sols
b Sarface tensionds i Fat thast of the medium,
Y Viscomity hon that nof the medinm.
3. Coagulag
Select the fnswer usmg the code given below |
@) 1dgud 2 {ty land 3
j R 3¢ {dy 1.2 and 3

following 8 (Eight) teras consist of two staiements,




ore labelled as the “Asserton (A and the other ax "Ressor (R
Yo aso be examing these wo statemuents carefallby and selecy the
answers 1o these flems using the code given betow
txr Buth A and R oare tedividualbly ree amd B s the vonrogg
exphination of A
(b Both A and R are ndividuzly true bl Ros msd e
correct explanation of A
() A s true bt B s false
Wl A s Galse but B oo bae
23, Assertion {A} © The gtemic & donic sizes of lanthaoicdes
decrense with increase of atomsg marhgr
Reason {RY Successtve addition of electrors mto 1
orbital provides streng sercening offect g5

24, Assertion (A} o Intercloctroniy repalsion bepween bond pa
borsd par, bond Dair-tone pair and Jaae pa
Borte prair e g mirfectle folfows
honsd padr-bond pasr < bond g
lone par-Jone pair

Reason {R) : Bord pair elecirons 3 T botacon

wo nuciel where Felogirons oy

I5 Assertion (A}
Reason {R) Ro spitt-rllowed eransitions

T e (high spin)

6 Assertion {A} o 5 AR

ey covformation.

as plane of symmetry passing through

arbon. b oand earbor.d

The hydrogens of the CH,- group ol 1.}

vyctopentadiver are acidic apd thix

hvdrocarhon is aearly 10® times more acudic

Reason



3.

3,

Reasmn i)

Assertion (A

Reasen {R)

4

Assertion {A) ¢

Reason {R)

Asseriion (A

ol
Singlol

than ordinary atkanes,
tn cyclopentadienyt anion, all fve carbons
are equivalent as cemonstrated by lsbeliing
eXPEriments.

The viscosity of an tdeal ges w wdependent
of pressure ab constont temperalure,

As the pressure 18 increased, the effect of
the inerease m sumber density of mokecules
i compensated by a propoticnale decrease
in the mean free path.

The wddition of a smatt amcunl of 3 meatrad’
cectrolvie fone thal does not  shere
cammnon ton) such as NaCi to a dily
sofition of acetic actd, will tause i icrease
i the degres of dissociation of
Due to the increased omicg®

#d methine proton signaks?

Alethylene Modhine

Doubict Smglet
Singlal Dovblet
Friplet Singlet
oublet Triplet

At which pressure and temperature conditions is the behavioor




of a real gas closest to that of an idead gas 7
(1) 15 atmosphere and 200 k
(b) 1 atmosphere and 273 &
{c) 0.5 atmosphere and 300 Kk
(€} 15 simosphere and 500 K
A3, Consider 2 sample of He gas and ose of Ne gas, both a2 366
K and | atmosphere, Assaming ideal behaviour, which of (he
folowings guantities are equal for the two sampies ?
1. Root mean square speed of molecuies,
2 Mean translational kinetic energy of molecules.
3. Number denstty of molecules,
Seleet the correct answer using {he code given below |
{@) Fand? by 2 and 3
{c) |oand3 {dy 1, 2 amt 3
34, Which onc of the following statensents is cog

For a reversible adiabutic expansion of ao | iy thie phot

(@} of slope ¥
(¢} paraliel 10 fog P axig
38, '

iy 210
{dy 1360k
;._ reaction the values of AH and T AS are of the

P Al is nopative and T AS is negative, bot 1AHT = 1TAS]
ALY is positive and T AS Is negative bt 1AH < ITASI



4 AM is positive and T AS 5 negative Tt IMH = 1TAS)
The reaction s feasthle f
{2) T oand 2 we valid (ty 2 and 1 arc vabu!
{e) 1 and 4 are valid () 1 and 3 are valid

37. The temperature of 4 modes of an ideal gas is raised from
300 K to 350 K. What is the value of (Al - AE) for thi

-." i |
i R b, K S———
process ? {moll{)

(a; © (b 415 ) (©y 4131 (d) 1660 3
18, Which nne of the foliowing is correct for a spontaneons
process 7 (8 = entropy)

{ﬂ:l A3 LA¥slemt - ﬁ's 1t HpElingE =0

{b] AS vaeen) = f)

(1 AS i 0 N
{(d A% Jeveteent AS N = 1

30, For which of the foltowing reactions, is the ste dd :_ atropy
of reaction AS" positive ?

fO2H,Oigd - 2H (g ¢ O
2. Cig! v 2H, i) {."EI}OH :

3. CHOHR « 3052 -» 24P e) W, 0(g)

4. C O » 30,) 8 31,00

Sglect the cormect ansy ithe code given below
by 1,3 and 4

{a) 1.2 Fandd
{¢i tamdld
4t I AGTard

g 0 = awd d
ithe standard free energy changes for

Cor » M E}H am! 200y & *HI II L0 HLO),

,H {}H e (‘ H LR HLO 2



{fa) 2 AGY - AGY by AG) -2 AG
(e} AGY  AGY () AGP~ 2AGP

I

¢

4t.

e
Fhe figure given sbove shows the schematic pressure p -
temperature T phase diagram of a certain sabstance. H
mny triple points are there in 1ke phase diagram 2
{a 0 by |
{cy 2 {dy 3
42, Fhe phase diagram For a one-component e - AT

beiow

What are § iriers of degrees of freedom ait the poents B,

{ty 0, 2and !
{¢&y 1,0and?2



av&mm*Wg
;

46,

44,

“Fhe concentration of OH ions at 298 K in a saturated solution
of magnesium hydroxide, o sparmgly seluble eleciroivie, is
4.0 % 10 ° M, What is the solobility product of 1he satt 2
WEK?

{a} BO= 0¥ fb) 40+ to"

ey 3223077 fy 125=10 "

What is the malality of etharol in a solition of 23% ¢ 1 OH
and 7% water by weight ?

ta) 649 by 325

{vy 975 {dy 469

Yapour pressese of CCLoat 25'C i E43mm Ho 0.5 ¢ of n
pon-volatide solute (Maol, wi, 63) is dissolved in 100m] of
€<, What is the vapour pressure of the solutions g
( Density of CCL = 1.538 glem®). (At wi: C =12, C= 35.48
{a) 149 mm Ha (b} 2439 mm Hg
(v} 9934 mm Hp () 14410 mm Hg
Fhe reaction 218, + ING > N +2H 0 is assungs
by the fotlowing mechanism @
NG #ﬂh’z{]? fast

N, HE s NLO ¢ HLO slow
N e Ny HO fast
Which s the rate law for thg
(@ Rate - kNOHH,]
foy Rate = KNOJEH
The vitlues of ﬂi}s; :
sifver nitrate are

Wate = kKINOP{H |

Rate = k{NOPHL]®

i calculated molecular weight of
ol 70 respectively, What i the depree
iMer nitrate ?

by 839

o id) 62%

Pl and BF, are three Lewis acids. Which one of the
aling s the eorrect sequence of these acids in order of




49

%1,

53

34

their increasing acid strengih 7

{a) MeB<BH < BF () MeB - BF < BH,

(c) BF, < MeB<BH, (d) BF < BH, < MeB

Which one of the fallowing is the Tactor of sEfference hetwegp
orthe znd para kydropens 7

fad Alienmen! of eleciron sping

{by Alignment of proton spins

{cy MNumber of neatrons

{d} Number of elecirons

What is obtained when calcism carbide is Beated in nitragen
nt INOH°C 7

(&t Lirca (by Catettry cvanamede
{oy Calciam oyvamde {dy  Cyanamide

in Which one of the fsliowing is metal-meial bond presen
fay Cupric chleride {1y Stannous chiorige

fey Mercurous chioride (dy Mercusse chlor

Which oec of the Following is liberated
soluticass of klkali mictsls in liggueicE sermemsopi
sloowly

fay  Amrpgma
{v) Hydropos {1l
ALng a mixtare of dry
s Borax te a red heat inoo

What is the compound obiag
ammotiem chivride and
platinuns crucible ca

{2} Boron nitride , ¢ 7 i} Horgrole

(¢l Armemoniu

ffd Ammo

Whut st ve of 0.1 M Ba((3H), solution in water

ahize completely 20 mt of 3 0.3 M aqueoons
of $ypephospherus acid (H,PO,) 7
: by S ml




Bl T R
fr ’

56,

57.

38.

i,

fcy HEml (dy 3ml

Hzlide ions are reducing agents, Whick one of the foliowing
is their correct sequence in the increasing order of 1beir
reducing power 7 _ ) .

fay €1 =F »Br =1 by T=8Br=Cl=F

cy > Cl=0ee i T A W S

The hexaaquo fon[TiH,0), 1, shows a weak band with a

maxirmem at 20,300 cm ', Which eac¢ amang the following is
1tke colour of the ion ?

fa) Creets by Blue

fol Yelow {dy Purpic

Which one of the following is the spin-only magnetic momse
of Hﬁl’e{(ﬁ?\i}ﬂ} ?

{aj E73B3M (b} 283 BM
fo 4.90 BM Wy 397 8BM
Besides oxide ore and coke, which one amo i
constitetes the charge i the blast fura
of iraa ?

iay Silien

oy Limestone

What will be the energy re
reaeiion, in which the
fay 093] MoV
o) 93 MeV

Eer o siuclear

2 Thonum
4. FPhitonium



{a) 1 and3 vy 2and 3
() I, 2 amdd fdy 2, Fand 4

61. What is the 1UPAC name of {Co(NH )N HCIHTN);
compound 7
{ay Chloro cyano nitro triammine coball (Lif}
{h Triammine chlore ovane nitro cobalt {Hi)
{3 Cyane chlvig o tiagundne cobaelt {HH)
(dy Witrn chioro ovano trigmmine cobait (1
&2, A 0.50 malal solution of ethylene ghveol in water s used a4

coolant in a car. IF the freezing point constant of water i
1.86 degree per molak, at which temperature will the mixiure

Freeze ?
(2} 1.36°C thy -093°C C)
j -186°C (d) 093°C

<)
63, Which one of (he Toliowing colligative propertics

Ak

molar mass of proteins with greatest prec b
(a} Flevainon of boiling pouy D

{h) Depression of freezing point

{ci {dsmotig precoure
{dy Relative lowering of vapour
64. The depressions of freezing 3K Ny, P03 molal sgueans

solution of the following cpfilgad®are measered «

b NaC) K80,

3IOOM, __ ALLSOY,

Which one of ¢ {mu neks will exhibit the Lirgest
depression gl ?

ORI (b} 2

ey 4, (dy |

65 In ght



67.

6.

Hh

1. NH, + Nt Ci

2. HCH+ NaCl

3. NH, - HCi @ 21 mole ratio

Qelect the correet answer using the ¢ode piven bejow |

(ay 1 and 2 (b} I and 3

(i 2 and 3 fdy 1.2 and 3

pK_of acetic acid is 4.7. I 60 mi of .02 M acetic acid js

mixed with 60 mi of 0.01 M NaGH. then what does pH vaiue
of the soiution become equal to 7

{ay 37 by a7

cy 37 (dy 27

What is the reasan that the motar conductivity of HCl(ag g
greater than that of NaCl(ag) 7
(1} Molecular mass of HCT 15 tess than that of ‘Ma{‘ i
ihy Mobility of 1 fons is more than that of Ne '
for BT oives strong acidic sohstion & s a

netitral soltition 8

iy H{ s lonized to a greater extent 4

A 0.2 molar aquenus solution of a el Felb acid is 3.29%
dissaciated 4 room (Cmperature. ot et

e approximate
vadue of Lae dissocistion mmta g i in water 31 room
temperatere 7 e

(8) Q& - 103 R
o) 2.0+ 10° P25 = 108
i ratio of velocities of Ag' and
NG; # is The transport number of N,
thy 0.3
iy 0o

coaductivities at infinite dilution (A*) for
Metate in water at 298 K are 128.0, 425.0 and 910



cre’/L3 og, respectively. A solution of acetic acid shows ag
eqaivalent conductivity of 38.8 em?/02 of. What is the perecat
dissociation of acetic acil ?

{a) 50 (hy 104

fcy 204 Ld 300

71, Ag,50, sotution was eicctrolysed in & cell having platinum
electrodes til} 1.6 ¢ of oxygen was liberated at the anods.
What was the amount of silver deposited a1 the cathode ? (Al
wi, of Ag = 108},

[y 2060 (b 08g
{cy 0888 & idy 1og

72. The standard reduction potentials for Fel'/Fe and Snt/%)
cleetrades are -0.44 ¥V and -4L 14V respectively. What is ¢
standard emf for the cedt reaction

Fe* +%n -» Fe+Sn? 7
)y OV thy -O38Y
0y 03BV (y D30V

13, Considér the following secondt order reag
the concentration of A ¢
IA - products

T obtain a steaight line with s ool to the rate constant
k, what should one plat as#

{a} [AT AT

(¢} IniAJ 1A
74, A proposed mechdis be reaction

Hel + T

in agueou

.L:

-2y TE - Hg* {slow}

www.examrace.com



A

6.

The rate of reaction is given by

@) KT 1{Hg )

Kok, [T Higll
K fHg™]

ki, [T17)(HgY
© kT T

(dy kkk (VIHg, g™
Which one of the following carnot be obtained from the
sefution of Schrodinger wave cguation 7
{a} Wave function of an electron

{b}y Energy of an electron in a [-D box
1Y Energy of an eleciron i orbitals

{d} Velovity of electrong i circualar orhits :
Which of the following are not scceptable sl
numbers for an clectror in an atom 7 "

Eoms 30 tm - domg -

goer from the code given below ©

{hby | and 3

{d) 2and 2

_ iﬁhitﬂi angular momeatum of an electron in 2




EY 2 by @
. n_
©) 5 i (d) Fn

78. Which one of the following gives an electras a greater
probability of being fourd close to the nacicus 7
(@) 3s by I
{c) 3d {dy 4s
7%, Which anc of the foellowing compounds contains & catisn
having non-inert gas outermost configuration ?
@y NaCl by KO3
(e} Call, (d) Cull, ;
80. Match List I (Elemens; with Last 11 (Yalency Shell flectro
Configuration) and selecd the correct answer using the cod &
given helow the lisis :

List 1

AL AR
B Hh
. Pd
). Ru

A B i R B £ ¥
{a) | 3 274 b 3 ]
fcr 1 2 3 d o 3 2 1

81. Which of the followis ih-polar ?

L Sif, PR & 13 i 8F
4. BF, # NF,

Yelect the #ower using the code given betow

{a) {by 2.3 and 3
: 5 fdy 10 F and 4
82. Arl he ollowing tretals, which form peroxide on heating

es¥ oxygen 7



33

84.

#5.

i Lihum 2 Sodumn

3 Bartum 4 Aluminium

Sejpet the correct apswer using the code given be.ow |
(33 1 and fby 2 and 3

ic} 3and 4 () }ang 3

Which of the following systems are isoelectranic 7

1 ONL Qo No 2 ONL QO NC
30OFLOR S, 4 OH  HF NH,

Select the correct answer using thew code given helow |
£ b, amd 3 {hy 1 3andd
£y 1, 2anid {dy 2, 3and 4
Mateh List ¥ (Elemenyt with List 11 {Electronegativity on
Pawling scole) and select the correct answer using the codes
piven below the lists -

Lis1 | List 1]
A, Carnom 0%
B, Nitropen
¢ Aheninium
D Cesium

T

Where ix an cheet t: during the change of
NO taNQ T
{a} o vrbial, (b 3t orbital

(d) =* orhat

2 covalent howsd



R,

83,

80,

3. goondinate bond. 4, hydrogen bond.

Which of the following séatements given above are carrect ?
{a} ! and?2 by 1,2 and4

{cy 2 and 3 fdy 1 and 4

Muatch List I fCompound; with List [ (Molecalar shape) and
select the correct answer using the codes given below the
{ists :

List | List §I
A, XeF, 1. Tewahedrs]
B Sef, 2. Sguare planar
. XeO, 3. Pyramidal
D Xet), 4. Triangular planar
3 Distorted tetrabedral
A B C B A B
fay 3 ; 4 5 thy :
fe} 3 3 4 ] (dy 2

bond order ¥
fa) O

{c} NO i
Maich List V iMolecnle) wit
the correct answer usings




&) 5 2 4 ; dy 1 3 ) 3
90. Which are the species in which sulphur underpoes sp’
hybridisation ?

Lo SF, 2 SO

3 507 4 HS

Select the correc! answer using the code given below
{a} | and 3 1, 2and 4

iy 2, 3and 4 {d) Jand 4

91. Caonsider the following rexction :
P +30H +3HO > x+y
What are the oxidation states of phosphors in x and v
respectively in the above reaction 7
ay 3, 3% {bp -3, 1
{cy +3, - ¢y -3, 3
92, Which of the following Hgands will bind o a
LaniBanide jon (Lo”} most strongly 7
(3) RS vy RP
¢y NGy ey b
43, Consider the following statem Wy Vit climination

reactions : ;

§, The fst step in the megi Fitand & 1 reactions
is identical.

2 Fhe mie of £l § epends on the nature and
concentration & __

3 In £l elimif8 efmann’s rule governs the oriemtation
of the et

of adiacent groups on a six membered ring
nost whoen the leaving groups are anti, viz
diakial,

of the above statements are correct



24,

a5,

g2y 1, 2 and 3 {hy 2and 4

iy | and 4 fdy 1.2, 3andd
Cronsider the S, solvolysis of the folfowing halides in agacous
formic acid ; g,

(CH,),CHCHBrCH,

1
| ]
Br
C H CHBrC M,
H
nn'

Which one of the following & 1he correcl sequey
palides given above in the decreasing orde
reactiviy 7

ESIE B A || B (b}
cy 1=H=W=I1 {dy dE-
Whick ¢pe is the correet conbig
terms af the Cahe, Ingold an
the compounds listed belo

COOH

www.examrace.com



96,

i i
{it) A 5
{3 ) i
{ch i, 5
@ s z

Consider the 8.2 displacement af the foHowiag compoinds

o
with €1 ion in dimethylformamide :

CH,CH, Br iCH,),CHCH, Br
! m
CH,CI,CH Br (CH ) CCH Br
o v

Wihich one of the following correctly represents the
decreasing arder of reactivity of these compounds is the
above reaction 7 ;
{a} IVom>H= IR RN VR | R |
ey IV =1 =H {d) PrH=IH

CHO

E

H— C —{H

CH,OH

rity of groups attached o

Which is Lhe correct o
' giind given above while assipaing

the chiral carbon in

Bt s CHO » OH = H



98. Consider the following statements about the Fishe,
projections A-D

CO0N {-'H}
RO e 1 T A
) —t—1 B — 1
o, on,
A C
CH, cu,

B omfene B HEY i H
H ——nr 1 e
cu, o,

B D

A and B are erytivo forms while C and 13 are three fon
A and U are erythro forms while 3 and [ arc e

N
bl
=
=
b
=
=
-
-
z
o
s
=
=
1
—y
S’
=
"
=

A and B oare meso-form while C and F
Which of the above statements ave corggg
{a) 1, 2und 4 "
ey Fand 3

9%, Which are of the foliowing




{c} L {d) ¢ H,

Ft
1 OH H{
It 0H HO 3
ki M
199, Ol
1

CH,CHO + RCN =3 CH, ~ CH - CN

oH
H,0° :
s CH, - € -
|
COOH

Which acid wouid be obtained in the reactio
{ay B-Esomer onky
{b L-Bomer oniy

w1 50%e ID-1soimer ¢ 30% FL-bsomier
{dy 20% D-lsomer - B09% | -Jsogh

1601, What is the agmber of asymte

-D-glucopyranose molect :
{ay Two Threg

¢ Four Ty Five

s, on oxidation, consumes one mle
Yelds onie male each of peetaldehyde and
il be 1he streciure of *A° 7

thy CH,COCOCH,
(dy (O CHOHCHO

Ag arpanic cansg?



FRS. Wihich one of the fellowing compounds could yield three
different monochiorinsted products ?
{a} n-hexane (i G-mehwvlpentane
{c} n-butane {d) Propame

(04, R—CH = CH=CH( -+ R-CH = CH - CODH
Which one of the fnllnwing reageats czn he nsed to bring
about the transformation given above ?
fat Chrornie acid {by  Alkaline permanganate
(ct Hydrasine (dy Tollens reagent

td5, In the reaction
SN E NS O]
+ ———— Y
T {] . N

how is the praduct farmed 7

{2} Afichacl adidinon foblowed by Aldot oo

(b Aldel condensation followed by Mighs

{o} Monnich reaction

{dy Knoevenagel reacnon followe
16, Match List 1 wish List FE and sy

the codes giver betow the L

ciondensation

correct answer using

Lisg [ g List 1
AL Coordination Polypentide
pOlVmerisation

B Free radicsny Nylon-66

d

Aiepier-MNatls canalys

A Azobisisobutyvroniteibe
5 civ-1. d-polvisoprene



A B O OD A B C DB
@ 3 5 2 4 2 4 & 3
€ 1 4 2 5 dp 2 5 b 4

;::i'ﬂ'?, Whick one of the folowing reagents will accomplish trans-
hydroxylation of an ofefinic bond 7
. i
(2) m-chloroperbenzoic acid/H 0
(b} O,/ Zn
e
(e} B HO, OH
(d}y OsCr 7 NaCO,

IR, Match List | (Vibration) with List I (dpproximate ©
cm '} and select the correct answer using the codes givey
below the lists :

List | List EI
A O-H streich 1 ELERRLLE
B -0 strech 2 T - 1780
£, C-H streich {saturated) 3. 3300 - 36X
D C-H bend olefinigy 4 3000 249

A B D cC D
{a} 4 f Y2 4 ;
{¢cp 4 . 3 I 4 2

109. What is te & value for tpl

ing campound aceording
to Woodward rule ?



.

HIE.

H3

. Whick ene of the !'ui!u

(a} 250 mm (h) 260 nmn

(c} 280 nm {dy 320 om
Consider the following spectrat data for an Orpani
Compound A :

l.m 279 nam (e =163
y 1725 ot

PMR & 10241, 3H) 2.06¢s, 3H), 2.3%q. 2}
What is the most Hkely structure of A ?

g
() CH, -C - CHCH,
i
(b} CH,0 - C - CHCH,

t};}
cy CHO - CH, - C - CH,

idy CH CH E([ZI.‘- - OH, - OCH,

G
Which one of the foilowing peptides i cgrhen Ada-Ser-
Thr-Lys-Giv-Arg-Ser-Gly is treatdf w it Rggek psin 7

{a} Alzs-Ser-Thr-lys
{cy Arg-Ser-Olv-Aln era'mrul..ys-{}iy

R acids liberates ammonia
n vReids 3 different amino acid 7
:: Asparagine
(d}  Hydroxyproime

on mild hydrolysis agft s
{ay Tyrosine g -
it} Alantne
Copsider t e statcments aboul carbohydrates:
Bromin i cun be used to differentiate an aldose from

ng shgars.



\”‘3_. Osazone formation destroys (he configuration about C-2
of an aldose, but does not affect the configuration of the
res: of the molecele,

4. a pair of diastcroomeric aldeses which differ only
configuration about C-2 is termed as pair of aromeors,

Which of the above statements are cerrect ¥

(@) 1,3 and 4 (B) 2 and 4

(¢) tand 4 (d) §,2and3

1H4, {‘um:’dcr the following reaction :

i i Nn?@ﬂtﬂi{fl at H% £H !{.‘{}HH
> A ]
fiip A &
COGH

What is the product B "'f! the reaction given above T
ococH, =P

@m
@/n ,

fanism of the reaction given above, calted ?
& {B) 5.3

Bion-climination  ¢d) Elimination-additon



lia.

E17.

118,

Consider the foltewing reaction :
$11 OH
_ CHO)
e CHE, aq. NaOil F-
S Hear 70°( ' B, ;

Wiltal is the reaclion keoswn as and which spevies does §
involve, respectively ?

{4} Sandmever, free radal

() Rewvner Tienann, carbens

{c} Hunsdiecker, e radical

(d} Fredeb-Crafis, carbontum on

o e

/4
4

)y CHLCL Al , {anhydrous)
{by C H Brihw

c) C,H,ii

{d) € HOONH, .
Which vne of thg ; mmpnuads wounld #et yicki
r-butane when yes % n-butvilithivm ?

(s} Ethanol fth)  Acctone

{ey Acey {3} I-hutyne
. Whic} b is used for converting propvleme to
polyprpylege ?

(CH ), Mg



128,

{h: TiCH + CH{CHL) L4

fe) TiCt, +{C 1), Pb

(dy TiCl, v KFTHF

Constder the following statements about Grignard synthesis :

o The carbon-magnesivm hond of the Grignard rogent is

covalent, but lughly polir, carbon being positive relalive

to clechronegative magaesium,

The Grignard reaction is & example of the typreal reactions

of aldehydes and ketones, viz, nucieophilic addition.

3. The reaction of carboxylic eslers with Grignard reagents
is zn excellert methed of preparing tentiary aleohals,

4, {rignare synthesis s smportanl as it permits formation
new cardonr-oxypes bond.

Which of the above statements are correct ?

[

{a) !, 2ang3 {by I, 2and4
(¢ ! and 4 {d} 2and3






